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INSTRUCTIONS TO THE CANDIDATES

(Read the Instructions carefully before Answering)

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question
Paper Booklet. Please read and follow the instructions on the OMR Sheet for marking the
responses and also the required data.

Candidates should write the Hall Ticket Number only in the space provided on this page and the
OMR Sheet. Do not write the Hall ticket number anywhere glse.

Immediately on opening the Question Paper Booklet by tearing off the paper seal. Please
check for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial number of the
Questions (1-160), (iii) The number of pages and (iv) Correct Printing. In case of any defect,
please report to the invigilator and ask for replacement with the same booklet code within five
minutes from the commencement of the test.

Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/
l_og Tables are not permitted into the examination hall.

Darken the appropriate circles of 1, 2, 3'or 4 in the OMR. sheet corresponding to correct or the
most appropriate answer to the concerned question number in the sheet, Darkening of more than
one circle against any question automatically gets invalidated.

Rough work should be done only in the space provided for this purpose in the Question Paper
Booklet.

Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall
till the end of the Examination.

Ensure that the Invigilator puts his/her signature in the s pace provided on Question Paper Booklet
and the OMR Answer Sheet, Candidate should sign in the space provided on the OMR Answer
Sheet and filled in application form.

I'he candidate should write the Question Paper Booklet number, OMR Answer Sheet number.
sign in the space provided in the Nominal Rolls and affix the left hand thumb impression in the
nominal rolls and filled in application form. '

Return the OMR Answer Sheet to the Invigilator before leavin g the examination hall. Failure to
return the OMR is liable for criminal action. The Question Paper Booklet shall be taken away by
the candidate and should be preserved till the declaration of results.

Filled-in application form shall be submitted to the Invigilator in the examination hall. In case of
SC/ST eandidates attested copy of Caste Certificate should also be enclosed along with filled-in
application form.

i This Booklet consists of 61 Pages for 160 Questions + 2 Pages of

L

Rough Work + 1 Title Page i.e. Total 64 Pages.
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Time : 3 Hours Marks : 160

Instructions :

(1) Each question carrics one mark.

8 G50 w.¢ Srdy, Fods,

(i) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
scparately supplied to you.

“od adE ©8 PHD afwds st POGE SdorgrdSaaid <JAER (AR Srdod
woE 1,2,3 85 4 3 athd OMR 33753 SHig5ed’ 6 Sowodods Ropgiie
WL wrlerE el Mowods =) SSDriod DosIBH.

BOTANY

I Choose the correct sequence of electron pathway in Electron Transport System,
(1) Cytoxidase — Cyt reductase - Succinichydrogenase — NADH dehydrogenase

(2) NADH dehydrogenase —» Suceinic dehydrogenase — Cyt C reductase — Cyt C
oxidase

2
(37" NADH dehydrogenase 5 Cyt C reductase —s Cyt C oxidase -3 Q,

(4) Succinic dehydrogenase —s Cyt oxidase 3 Cyt reductase — (),

SO S SEORG'D BB e OTerdrT) fofodod

(1) 2EED ebS - pi'ES 0445 5 5806 &e'2ds — NADH 8725235
(2) NADH&pn@'235 ) 58)08 8@ 2dt - 2 ES 04E8 5 CyiCegds
(3) NADH 8%r@'2dh — 2565 Coals — PEES CugdE o O,

(1) RRNEATE'=I0 o PEED efAF o DIES shAS - 0,

Rough Work
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2. Maich the following;

Last A List B
(A) Oxidoreductases (1) Linking of two compounds
(B) Isomerases (1) Removal of groups from substrates
(C) Ligases (11) Inter conversion of isomers
(D) Lyases (iv) Dehydrogenation

(v) Hydrolysis
Sod il adddodin:

e - A =Dea - B
(A) w&a'odifes (i) Yot JHodrAFom S0LH
(B) offidEen (1) =gy dorge ol ddnoared Fonodd
(C) ohdews (ii)) dyrpo wodd abden
(D) exdbhfeo (iv) &@'asas

(v) 2o d3de
A B C D
(1) (v) (1) (i) (ii)
@ (v Gi) () (i)
(3) (i) (iv) (i) (v)
(4) () (v) (i) (i)

3. hgosc the correct statement
( Stroma lamella membrane lacks PSII and PSI
(+) When PSI is functional electrons flow in a non cyclic way
(3) ATPase enzyme consists of F and F; units
(4) NADP reductase is a part of PSII.

Botd IS JBELS TgpgS HBodsw.

(1) edbhsrdcereds® PSI Sobcdn PSIen Jodd.

(2) PSI&rmsas Balrd for Jad Jogion wdifah dgrdos dovw wHeron.
(3) ATPase Jo350¢” Fyibosn F,ed dermosodron.

(4) NADP 843# PSIl &' o.¢ grridw

Rough Worl«
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4. Match the following;:

List A List B
(A) Mg (i) Splitting of H,O during photosynthesis
(B) Mo (ii) Germination of Pollengrain
(C) Mn (111) Constituent of chlorophyll
(D) B (iv) Component of Nitrate reductase

(v) Synthesis of Auxins
Bob o83a mdSdhd:

wle - A Do - B
(A) Mg (i) Boemasy Sod@rioy’ 98 DdHES
(B) Mo (i) DHoKdmHos ooy
(C) Mn (iii) HEr0B0S* soseyin
(D) B (iv) DS 0aESs wlisbdo

(v) &3 Sofdwm
A B C D
(1) () (v) (v) (i)
(2) (iii) (iv) (i) (i)
(3) (i) (v) () (1)
(& (i) (iv) () (i)

m— —— — —

5. Match the following,

A B
(A) Statins (1)  Remove the clots in blood vessels
(B) Cyclosponin- A (1) Competitive inhibitor of cholesterol synthesising enzyme
(C) Streptokinase (iii) Immuno suppresant
(D) Lipase (1v) Soap industry to remove o1l strains
Bod dd addhdddn.
A R
(A) & (i} dérdined® igod Fohodb
(B) R5a%8a -A (1) FaFd ﬁﬂﬁﬁﬁ <oy ook, 858 N6'gEo
(L) Zasas (111) &' AE'GES wirdolio Fod SoEhd Hred
(D) a%d (iv) #Ard fodfen, Fofohbt Sane S0FDS" dddingo

A I3 C B
(1) (i) (ui) (1) (v)
(2) (iv) (i) (i) (1)
(3) (n) () {1v) (1)
(&7 (iv) (i) (i) (i)
2015 5-C AM 2015
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Match the flJ-"UWi:HH.

List -1 Last - 11
(A) HIV (i) ghost
(B) Pilus (1) prophage
(C) Virus penetration (iii) Retroviridae
(D) Lysogeny (iv) donor

(v) Polyhedral virus
Bol Tron sddddodon

e - | e - 1]
(A) “rSo.0. (i) &5
(B) ok (i) @5E
(C) 35 @ade (iii) o D0d
(D) 2Fza0 (iv) orddmo

(v) oiuzh=rg)s 365
A B C D
M G G Gi) (v
@ ) (v Gii) Gi)
3y (v (i) D) ()
£4) (i) Gv) G) (i)

Arrange the following in decreasing order based on the results obtained in the F, progeny 2.
ol a dihybnd cross.
(A) Total number of parcntal genotypes
(B) Total number of recombinant genotypes
(C) Total phenotypes
(D) Total genotypes
Bcdosda Fr8850S ool Ssoi vifrahod vldybu.
(A) ®:isddo adoglrire Judo oy
(B) Ysdodraao aipdrdro Juodo Sopg
() Swedo gyfgdraro Hopg
(D) Jwedc mmg-ﬁrﬂ-u :fn:ama
(1) CBDA (2) ACDB
DACR 4) DBCA

Rough Work
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8.  Asscrtion (A) : Transcription unit is often monocistronic in eukaryotes and polycistronic
in prokaryotes

Reason (R) : Exons do not appcar in maturc KNA, introns appear in mature KNA.

(13 (A)and (R) are true (R) is correct explanation of (A)

(2) (A) and (R) are true, (R) is not the correct explanation of (A)

(37 (A)is true (R) is false

(4) (A) is false (R) is true

A0Y Fregdw (A): @BPpd Piredn i oS #:S° DI LErnsmi, Sos
ardcdS’ OEnEmas dolool.

aade (R) 2058 RMAS® Jsmids 3043, qodri Jolron.

(1) (A)Sdcin (R) e 306052, (A) & (R) 50405 25dw

(2) (A)Sdctno (R) oo $0505D, 570 (A) %o (R) 56508 D5des

(3) (A)J0oIB, (R) 3000458 B

4) (A)H0BoHIG s, (R) 00dHHL

9. Identify the steps that are involved in PCR

(A) Denaturation (B) Anncaling
(C) Extension (D) Down stream processing
PCR &'0 &¥ws rhbodosn.
(A) Dagerdedosn B) =308 Db
(C). &8hody D) edopad @8
(%88, D, C # A,D, B
(3) A,B,C (4) A, CD
Rough Work

www.A peamcet.co.in
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10. Match the following 1]

List-1 List - 11

(A) Fermenting malted cereals (i) Clots in the blood vessels
and fruit juices

(B) Production of large holes (1) Digestion of sludge by bacteria_
in swiss cheese and fungi resulting in emission of

methane and other gases.
(C) Myocardial infection (m) Praduction of ethanol
(D) EBiogas (1v) Blood cholesterol lowering agent

(V) Production of large amount of CO,
ol dd =didihsn

e - | arDer - 11
(A) HOaHBBS grdgd Dol (i) dETeros* Nge
=008 Soddres
(B) 5B i 1 dogre (i) 8 Sgged wfvcir, 3ogros 28058k
&d\@ IS Dobakn avdd Tunde ddide —
(C) Tyfch Smeroe SoEondy (i) agad ad\d e
(D} =drmgs (iv) 85308™) S dhod sddo
(v) wbE 30drwos” CO, @S
A B C D
(1) () (v} (iv) (i)
(2) @) () (i) (iv)
@) (v) () (i) _
(4. (v) (v) (i) (i) www.Apeamcet.co.in
Rough Work
-
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In recent years some crops were improved by various methods for hi gher yield and better
quality of food grains. Match the improved varictics with the related CTOp.

(A) GoldenRice (1) Crosshreed Hybrid

(B) LR.8 Rice (i) Somatic hybrid

(C) Himgin wheat (iii) Semi-dwarf variety

(D) Pomato (iv) Genetically modified crop.

f:ﬂ:irm-ééﬁum, ﬁ:wﬁgﬁnn‘ EJEEE BT Eraiodt Dot ﬂl:lgbﬂih b bala :hgﬂ'at:- oo
S35 Food’ vd5)h Bobomrh. winbodd wid Dobds oped I8 Sowohd Hobios'

sdadododan.

(A) #3505 (iii) So€deosw

(B) LR.838 (i) THoh Bo¥demsan

(C) Snb Ao (iil) BE oosddsu

(D) 25 (iv) 2dpiroyd Sob
A B C D

() (v) () (i) (i)
@7 (iv) () (1) (i)
(3) (i) (iv) (i) (iii)
(4) () (u) (iv) (ii)

1.

I E—

The recognition sequence of restriction enzyme ‘A’ is GGCC and that of 'B' is GAATTC.
Which statement among the following is true regarding the probable frequency of cutting
sides in a genome.
(1) Both (A) & (B) cut equally frequently
(2) (A) cuts unce every 676 nucleotides and (B) 1024 nucleotides.
(3), (A) cuts once every 256 nucleotides and (B) 4096 nucleotides

(A) cuts once every 256 nucleotides and (B) 1024 nucleotides

ORES 2585 'A' 298 BoH R0 GUCC So8dixn 'B' 285 daboiy rao GAATTC.
2SS o Dok Jogow DG H80DH Fio Sogrdgdd ' SHOIESre oI HIPIgo
aer Jolvod,

(1) [SErS2d drdod”

(2), (A) & 28 676 Sobc3n (B) & 1024 WrpEErid AdIST

(3) (A)S 38 256 Ssbc5w (B) & 4096 ArpSdrad HAdg

(1) (A)S 158 256 S:8c8w (B) & 1024 Argtairfd Q82"

_m
tough Work
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13, Assertion (A): Evenisin pachytenc play a key role in evolutionary chan BCS 1N OTEAnisms, 1

Reason (R) : Exchange of genetic material takes place between sister chromatids of
homologous chromosomes.,

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(£} DBoth (A) and (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

WPH eI (A) 205G 200 fahes 2P 30 E508° 58 Srn0s Sopg
BErCED S0,

sroan (R) P oSl Fardrsoo s Fardd gy 200 ﬁﬂlﬂ:ﬂ'tgﬂ Srona
aon adafdiod.

(Y (A)Scbain (R) S0E0ED. (R) $ (A) 50608 2300

(2) (A)Hbain (R) 58352, (R) (A) 8o 503 D566 56

(3) (A)S0&030 (R) &3y,

(4) (A) 85y (R) ey

14. Match the following:
List ] List I le
(A) Trichomes (1) Gaseous exchange
(B) Trachoids (i) Mechanical strength
(C) Bast fibre (i1)) Prevent water loss
(D) Guard cells  (iv) Water conduction
(v) Synthesis of food

& Sod orddn 2ddddin.
ahe - | ero - 11
(A) E’a"émm (1) &arcde JDSabhin 1°
(B) oddaren (1) ciro@®f sgrdso
(C) FSErtien (1) o3 Rafd) voEb
(D) dddeeren (1v) sedroe
(v) 56 Sog Hodbe
A B C D
H’;/i_m} (v} (V) (i)
2) (i) (v) Gi) ()
(3 (1) (v) () (i)
(4) (v) () () (n)

el TET s R L e — =

Rough Work

=
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15. Ininsertional inactivation of B-galactnsidase gene, the bacteria in whité colonies have

(1) Non-recombinant plasmid
(2) Recombinant plasmid
(3 No plasmid

(4) Linear foreign DNA

Bwug‘ﬂaﬁ aaogay g, m%ﬂfiﬁ aag;ﬁ:zﬁ 5g L‘:ﬁ_}ﬂ Sorda ar-gﬂaﬂ:- FanTareest
SOod58.

(1) & Sodruse Joda F6
(2) DS: Sodrag >iyb

(3) 8 sod

(4) Dendh DarbobH DNA 363rm03

16. S;Jh;ads on a stning' like chromatin with 200 beads or nucleosomes contains bp of
200 o ol drpidrdtoe: de F3r05 & bp A&dre DNA Hotuod.
(1) 80,000 (2} 40,000
(3" 20,000 (4) 10,000

I7. In an Angiosperm the number of micro spore mother cells involved in praduction of
120 male gametes is

o8 esdysde Tk S* 120 Heidh Soded Haren DT FES s B Dy Srdgaro Bogpg
(1) 30 (2) 60 (3 15 (4) 40

www.A peamcet.co.in
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18. Match the following and choose the correct combination from the aptions given below !

Column A Column B
(A) Eubacteria (1) Trichoderma
(B) Dinoflagellates (I Albuge
(C) Phycomycetes (1) Gonvaulax
(D) Deuteromycetes (IV) Anabaena
B0l TBS* HBGEoS udd JoHE DHED 2dAdsod.
e A g B
(A) chreribair (I gs‘aoy
(B) a~'yabifen (1) sond
(C) »E'2HED (IIl) FraErah
(D) drpiSE'RonedB (IV) wdda

(A) B (© (D)
(H @ @ dm avy
) M am av @O

avy an (I
4 vy am @ ~an

19, Bryophytes are
(1} Archegoniatae, tracheophytic, embryophytic
(2) _ Archegoniatae, tracheophytic, non-embryvophytic
{J'I/I Archegoniatae, atracheophytic, embryophytic
(4) Non-archegoniatae, atracheophytic, embryophytic
Bar e
(1) wg)ffOchotio, T°85 Sprocng, Doa'd)g T53
(2) ‘w8 Fachoke, TETERrosing, Dod'd g Dabid
(3) &g, ko, Flssnmrodirs, DoS'Eyg T
(4) wo,Acdo &a, c¥rinaro §ird, Dod'ad S0

._-___—.____l-—-—I

Rough Work
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20 Identify the characteristic features of diatoms.
Cell wall 1s made of cellulose, floating on water and produce auxospores
{1} Cell wall is made of chitin, fixed forms, and produce AUXOSPOTES
(3) Cell wall is made of silica, floating on water and produce auxospores
(4)  Cell wall is made of silica, symbints and produce zoospores

doirLlves LEodshs visrouds Hlodhin.

(1) Seofddiior Renges' s A0odnd, A Swadr, BEPMGOR $818 LD
(2) sesidin POSS 0poled, ehisdn Tob, sETNGOH G688 FhD,

(3) swedudn HoFe' U EBns, MWD Bwdr Hod sEihod ddE Th
(1) E@EIISn 0576 0 des dirdite By o bibrodh adg THo

Z1. Identify the right combination
(1) Carrot - Tuberous root - Head inflorescence
(Y Onion - Bulb - Corymb
(3) Colocasia - Rhizome - Spadix
(4) Bougainvillea - Thons - Cymule
~0dLS FoonEis Bodod.
(1) 508 - o3 - PES8sHSw
(2) r'ﬁﬁ.}ﬂ - bl - Ded
(3) Feoshar - 28560 (Fiwy) - MAE
(4) TNI20cr - S - DS

22.  The chief edible part in (a) Groundnut (b) Jack fruit (c) Apple and (d) Mango fruits are
4t]  (a) Endosperm, (b) Inflorescence axis, (¢c) Mesacarp, (d) Endocarp
(2) (a) Cotyledons, (b) Succulent perianth, (c) fleshy thalamus, (d) mesocarp
(3) (a)Cotyledons, (b) Endosperm, (¢) mesocarp, (d) fleshy thalamus
(4) (a) Cotyledons, (b) Fleshy thalamus, (¢) pericarp, (d) mesocarp
() BHFSA (b) 555 (c) BhHE Dooin (d) 3rBA oo HOSom BSEAS wESwn
(1Y (a) ﬂuﬁaﬁﬁ‘}ﬁ:‘m (b) Ajedrge 85w (o) dadghe 85dhn (d) wod:de €505
(2) (a) Dadees (b) 58048 205850 (c) fudie Qamdsdn (d) Soggde 3050
(3) (a) Daderen (b) @ﬂﬁ:dq}ﬁ:ﬁ-xﬁ (c) oggee 3830 (d) Sodiio adaryresia
(4) (a) baderen (b) Bodrie IS (c) Ho 5380 (d) Dodgde S350

Rough Work
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Match the organism in column A with the Contents in Column B,
Column A Column B

(A) Gracilaria (I) Biflagellate zoospores
(B) Ectocarpus  (II) Elaters
(C) Marchantia (I11) Biflagellate antherozoids
(D) Cyeas (IV) Carpogonium
(V) Multicihated malegamctcs
o A 2o srod DS o8 adddododn.
sTean A s*wen B
(A) radocsr () GETFens A dgbwres
() Jgﬂ;}h (11) Hﬁhfg—a
(C) Sroyohdir (1) Scfrdoiud dod Hhblleras
(D) Tee (IV) s=&yfi'Dcko
(V) advidecing Hoa seariberes
A B C [
(N @ (av) (i) (V)
A (iy (V)
(3) (IvV) (I) (n @)
@) (IvV) (V) an ()

24.

Assertion (A) : Subaerial stem modifications participate in vegetative reproduction,
Reason (R) : They store water and food

(1) (A) and (R) are correct, (R) explains (A) correctly.

(2) (A) and (R) arecomect, (R) explanation incorrect.

(3) (A)1s correct, ()18 falsc.

(4) (A) is false, (R) is correct.

AQ8 FEgEn (A)r@darainiid sod drdrodore FHob Peégdhas’ eolron.
Foedn (R): ad W80 o0 Sogod Juod ddtiotrow.

(1) (A)Sebaiw () Z0ghesa, (R) (A) e R0im Ja0nz08.

(2) (A)&0uin (R)H0dLSD, (R) Dddem SOsdh.

A (A)sogise (R)&sy

(4) (A) &35y (R) S0gnda.

Rough Work
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Different plants adopt various methods of pollination, match the plant with gorrect method
of pollination.
I I

(A) Pisum sativum (1) Chasmogamy and cleistogamy
(BY Commelina (I Self pollination
() Water hyacinth (1II) Cross pollination and sclf sterility
(D) Abutilon (IV) Protogyny and entomophily
(E) Solanum (V) Entomophily and anemophly
QP HSR g o0 S0 gsreand DO SoRd), ﬁ%éausfn: wiowodaw, Sob S0 ), O
SBGHS DO DoAY, HGBS* BEdH LY.

| [l
(A) Do B35 (1) DBy8 S08cho S0Sy8 S0l
(B) Sduos (I) esgpsor 20 i, X0
(C) gy, (1) HESoHRoBlySn H0cks wéSoehn
(D) woora (TV) @ il @BFErd g Sobokn ALg Hord Hoddydw
(E) ®Ferdln (V) SLESoR Sosd,sn Siddin sdn S0 HoDd),S0

A R C D E

(1 m @O o M (1V)
2) (V) (O (o ~dm  (1v)
@ran (V) @) am @
@) (np (V) ~m  Jm (1v)

The pollen Graing can be stored in a viable condition for many vears in the following
conditions.

(1) Anaerobic conditions in 0°C (2) Liquid Nitrogen (- 196°C)

(3 Liquid Nitrogen (0°C) (4) Liquid Hydrogen (-196°C)
SordBenuic Aoosd 30 Foltor vl doddidin Lk & ol SEpded’
LeS D38y

(1) 0°C 5g waroin d0jdes” (2) —196°C 38 |63 Siguas’

(3) 0°C :":rg 16 Sdune (4) —196°C3& (=5 &S’

_._——F—_#

Rough Waork
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27. Read the following and identify correct combinations

CGienus Famly Character
W’ Datura Solanaceae Lpipetatons stamens
(2}  Allium Solanaceae Tricarpellary gynoecium
(3) Petunia Solanaceae Didynamous stamens
(4) Crotalaria Fubaceae Diadelphous
& Bob orae H00S mdni Hiodin

era Bodaoomaw wEIN
(1) dédoor Areadt Sofobadid DBRS Bhorw
(2) wdcko = S sl wodt iy
(3) Lardodr i L '55% e EYeante
(4) s'edscy >an Bgpogs BoorSd

28. Identify the polypeptide subunits presént in the adult human hacmoglobin
(1) Two a type subunits and two i type subunits
(2) Four a typc subumts

{3'}” Four P type subunitg
(4) Three o type subuniis and one § type subunits

@6 Sride SIniRsS’ HF) FOURE eIRdrareds hioin.
(1) Tod addPPadidirao LHbako Jods POy dddrwres
(2) Seors BLOEY S3RSraren

(3) aoa fO8H adpiraro

(4) Sopdd o ddY edpdrore, Hdciv nE fdey HoEoirmin

Rough Work
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29.  Maich the plants in column B with character in column A
Column A Column B
(A) Parthenocarpy (i) Lodoecia
(B) Polyembryony (1) Banana
(C) Largest Sced (iii) Mango
(D) Seeds from Arctic tundra (1v) Orchid
(v) Lupinus
o ASW oo Fow B S e duged’ easioman.
sean A SO B
(A) wdh€dodin (1) Jobacsr
(B) wdobodd (i) @5
(C) wang eSS (iii) £r208
(D) wof Lo Jdgaren (iv) sty i
(v) eobds
A B C D
(1) () (m) (1) (v)
@ (i) (i) () ()
(3) (v) () (v) (m)
(4) (v) (i) (v) ()
30. Ribosomes are essential for protein synthesis, but they are present in Mitochondra and

plastids, the sites of gespiration and photosynthesis. What 15 the role of nbosomes in

these cell organells.

(1) Ribosomes transport ATP formed in Respiration and photosynthesis (o cytoplasm
through E.I.

(2) Subunits of some required proteins are synthesised in these organellc:

(3) Ribosomes transport RNA and DNA o cytoplasm

(4) _All the above are correct

@dé ﬁﬂiﬁmm EPSen wdndin, wond 9d Fgofdh, Admad; Sodse fols

@mgm:ﬁ woii'eroBair, Jroddodod’ Hoiron. & fwromd DS TEuL @ D007

(1) BE'Fsnw TeHicn, Sdnudy dodrngcbed’ J6E ATPD E.R agor Sy
e Gigod.

(2) & Seromd® oSHEs FR) U8 olEpsrary Soghn atibaren.

(3) RNAS0ain DNAo Sa@lsod's doar Siow.

(4) by H0GHD

Rough Work
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Identify the correct combination regarding Anaphase, Anaphase-I and Anaphase-I1

(1) Anaphase - centromere splits,
Anaphase - | - Centromere splits,
Anaphase - I -Centromere splits

{})/ Anaphase - chromatids move to opposite poles;
Anaphase - [ - Homologous chromosomes separate;
Anaphasc - |l - Centromere splits.

(3) Anaphase - chromosomes cluster at opposite poles;
Anaphase - | Homologous chromosomes scparate;
Anaphase - [I - Centromere splits

(4) Anaphase - chromosomes move to opposite poles;
Anaphase - | - Homologous chromosomes separate;
Anaphase - [l - Centromere splits.

SOS6E, Susei-l Sussi-1l ok SowoBod HBGHE HEK Kfodod.
(1) deddd - Dopiabd Hodo,

SossE-1 Do il QDF80d,

Seosdd-1] o' oo d D0Srda0b.

(2) dolsy - Fordd) 55888 Grodd) SOFow,
Soidd-1 dderbcd FArdinaiideon,
derddd-1 o uahl Harddod.

(3) deddd - FRrrde 35rdes G 3§ JOdaon,
Sosdé-1 hebah ERrrsoa e,
So363-11 HoT Joghs duodiod.

(4) dodad - S ArAesa SpAls gyorats dderan,
dossd-lsderboh Farddoe Jboow,
dosdd-1I Do’ oci WOFascs.

Rough Work
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32. Match the following:
A B
(A) Abrin (i) Lectin
(B) GLUT-4 (1) Intercellular ground substacc
(C) Collagen (i) Hormone
(D) Concanavalin A (iv) Enables glucose transportito cells
(v) Toxin
Bol Tran 2didhahan.
A B
(A) =DS (i) 853
(B) GLUT-4 (il) Ecrodd Sogrole Jorgh
(C) Fegue (iii) 96"y
(D) Fasaiaos A (iv) gwred® frs'S doarss' dydodood
(v) &rgyw
A B C D
(1) (i) (iv) () (1)
@ (v) (iv) (1) ()
3) (i) (v) (1) @)
(4) (m) (v) () (1)
33, These cells are absent in phloem of gymnosperms

(1)  Albuminous cells

(3) Phloem parenchyma
Dy Hepres 58 Emerood® & Esroo Godd.

(1) sapdoss Seroo
(3) SFasddssmaroo

Rough Work

(2)
(4)

Companion cells
Phloem fibre

(B s

(4)

FSdarden

P‘é

www.A peamcet.co.in
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34. Penderm of stem includes
(1} Phelloderm, hypodermis and pericycle
(2) TPhellogen, phellem, phelloderm
(3) Phellem, phelloderm and lenticel
(4) Phellem, phelloderm and pericycle

Fofdo L0ddSnd & fob Jrduodiran.

(1) , Selchden e, wd#Ho)Sn Sodain JoTESD
(Tf’ Vs, Dok, Brboh Seyeo

(3) Bodo, Brbod Jup o, Tandogo

(4) Bods, Bgboh Je)odn, SBSESN

35. Match the following:
A B
(A) Lemna (1) Halophyte
(B) Vallisneria (1) Free floating hydrophyte
(C) Rhizophora () Amphibious plant

(D) Typha (iv) Submerged rooted hydrophyte

Bod 8D adidhin,

(A) B3y (i)  edyhes g,

(B) ardGdocir (i) A& g™ 38 3weg),

(C) 2a'do (i) S FoioSs 308,

(D) B> (iv) I8 500 Hod ofy)§dwBols Ang)

A B C D
(1) ) () Qu) ()
@r (i) (Gi) (V) ()
(3) (). (iv) (1) (i)
(4) Gy () (iv) (i)

www.Apeamcet.co.in
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3.

www.Apeamc '

Assertion (A) : Ethylenc induces fruit ripening

Reason (R) : Ethylene is a gaseous hormone.

(13 (A)and (R) are true and (R) is correct explanation

(2) ., (A) and (R) are true and (R) is not correct explanation
{Jﬂ/ (A) is true but (R) 1s false

(4) (A) is falsc but (R) is true

005 arsgan (A): JBOS Hero &8 (WODRYOB.

grdeoan (R) - 008 wf araindrd ﬁ‘{fé;u-

(1) (A)SsBasw (R) 9835, (R) 30ghs 238w Www.A peamcet.co.in

(2) (A)Sbain (R)H0cbED, (R) 58l Die s
(3) (A)sogesae e (R) 83y
(4) (A)daSy s (R) 2y

Induction of cell division and delay in senescence 15 caused by

(1) Cytokinin (2) LA.A. (3)  Gibberellins (4) N.AA.
fadgadi (Lihod odrd) sodidisEos soescigh.

(1) B3 (2) LA.A. (3) 2eRdSen (4) NAA

38.

Match the following:

A B
(A) Scotoactive stomata (1) Opening and closing of photoactive stomata
(B) Guttation (ii) Transpiration
(C) Tensile strength (iii) Water loss in liquid phase
(D) K+ pump theory (iv) Night transpiration

(v) Antitranspirant

1Bod T3 a2advhdn.

A B

(A) &9e5'cinsS Sigcoigres (i) F'airgS HEdoEhn Blhs'Sde SarkesSdo
(B) Doda@nssa (i) orand)sse

(C) @358 wesn (iii) |856rHos* DHE S H

(D) K+t B0 Berossn (iv) C@Fs erandyEsn

(v) zrdmEhE A5E5w
A B C D
(1) (iv) (i) (i) ()
(2) () (v) (u) (m) .
AT (i) (iv) (v) (i) www.Apeamcet.co.in
(4) (m) ) Gv) (i) -
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30, The correct ascending sequence of the cells with respect to their water potential is

& Bob Serod® T8 N8 F5me werdon H5 wiiire Fhod” vifob.

A B C D
r —08MPa — 1.0 MPa - 0.9 MPa - 0.3 MPa
P +0.4 MPa + 0.5 MPa + 0.2 MPa + 0.2 MPa
(1) ABCD (2) CBAD (3) CABD w% CDBA

www.Apeamcet.co.ln

40. Conversion of organic nitrogen into Ammonia, N; gas inio ammonia, nitrates into
ammania, ammonia into nitrates respectively known as

(1) Nitrogen fixation, nitrate reduction, Nitrification, ammonification
(2) Ammonification, Nitrogenfixation, Nitrate reduction, Nitrification
(3) Nitrification, Ammonification, Nitrogenfixation, Nitrate reduction

(ﬁ'{ Nitrogenfixation, Nitrate reduction, Denitrification, Ammonification

Bobdh Szl edrReirm, g2 Jroinyg wimAdirm, JPtoen wdrDdirm,
wirmdair FBlooor S50 EIEeR SWT.

(1) &@ad Fos, Bvo EoREEn, IS0, ¥R PTRA0
(2) ©3rPUIns, SPed P8, JPLoe ohide, HB8dn
(3) $ B0, warNReas, Jgad I, JBtoe gubsdn
(4) SBud Fos, J@toe EaHElR, IHGECD, wmIUSIS

#

Rough Work

22-C AM 2015

www.Apeamcet.co.in


Tulasirao lanke
Typewriter
www.Apeamcet.co.in

Tulasirao lanke
Typewriter
www.Apeamcet.co.in


www.Apeamcet.co.in

r?.iet Code ]
| L1 j
ZOOLOGY
41. Match the following

List 1 List 11
(A) Arenicola (I} Terresirial leech
(BY Hirudinaria  (II) Marine leech
(C) Pomtobdella (III) Lug worm
(1)) Haemadipsa  (1V) Fresh water leech
Bod ol adnddod.

e | zrfiae ||
(A) sDAEer (1) &grdd 2o
(B) wr&adocir (1) 808 sof
(C) ots*Per () of 55,
(D) >3rdim (IV) 00048 zod

A B C D
(1) () () (1) (1V)
(2) (U ((1avy dan ()
(3) an oy o avy (1
(4 (O D Javy (1D

42. Match the following.
List List 11

(A) Cardiac glands
(B) Pyloric glands
(C) Peptic cells
(D)) Parietal cells
The correct answer is :
& Sod U 2ddESod:
ahav] }
(A) 98 fodow
(B) 288085 Hodben
(C) "5t foren
(D) Bodg Serreo
D0GLN Hrgradn
A B C D
(1) (I an avy (I
(2) (1) (my m  (1v)
(3) iy @ (D (1Qv)
(4 (O (V) an (I

(I} Castle's intrinsic factor
(II) Gastrin

(IT1) Mucus [or protection
(IV) Pepsinogen

wdHo-11
(I) 5RS 205 58550
() mES
(1) Sgeo Fysoo
(IV) iytas
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23 -

In man during inspiration air passes through

(1) Nasal chamber - Larynx - Pharynx - Trachea - Bronchioles - Alveoli - Glottis
(2) Nasal chamber - Pharynx - Larynx - Trachea - Bronchioles - Bronchi - Alveol
(3] Nasal chamber - Larynx - Pharynx - Trachea - Alveoli - Bronchioles - Glottis
(4) Nasal chamber - Pharynx - Larynx - Trachea - Bronchi - Bronchioles - Alveoli

S ahed ﬁﬁ'seim.‘:-" TERIPO wodre Srgo

(1) &rhsdodrdo - Hnds - (5 - sraiuardo - mRadsw - arofoflemoey - So8fwo
(2) ohssirdo - (BN - B0 S - TOROTEC - TERTVEL - TERTEIN - Fooi'woes
(3) REBITTO - 3T L - (1A - Trainrdo - Frdinfiaven - TRt - Soddoo
(4) obsdlrdo - (150 - S hids - oraloardo - TR Fo - TERTEELS - Tdloieowd

44,

What will be the number of heart beats per minute, if the stroke volume of heart increases
with the total volume of blood remains same.

(1) Remains constant Decreases

(3) Increases (4) Becomes crratic

g5 woRnbirmod’ i?ﬁabﬁéaﬂw ;E:Jud;’:r Waaddiree 0Ny G) Adoaras .:'I-;.L:S::ﬂ;:
yodare Doy

(1) %ﬁan‘ drodool (2) S8 on

(3) “wdurberow (4) ddym dryean

45.

Choose the correct one regarding urinary excretion.

(1) Urinary excretion — Glomerular filtration — Tubular reabsorption + Tubular secretion
(2" Urinary excretion > Tubular reabsorption + Glomerular filtration — Tubular secretion
(3) Urinary excretion — Tubular secretion + Tubular reabsorption

(4) Urinary excretion — Tubular secretion — Glomerular filtration

S wgs Dowodod FBrond TrAd SN R0,

(1) Sr@ddgs — EFIsLgrode - FITYI Fadn + 3@,
(2) Hr@Eddgd — TSHEFamo + GETISTOHmose - FEsErdo.
(3) Som@gddgd = o dsmrdo + FJs Y Fheo.

(4) Jumglags — oisrdo - dgove ri_u:ir;-,rr'r_h‘."m_

Rough Work
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47.

[ Set Code | C

. L1 ]
Thin filaments of a myofibril are made up of
(1) Actin, Troponin, Tropomyosin (2} Actin, Tropomn
(3) Myosin, Troponin 7 Actin, Tropomyosin
So4s ArE)dodd) clng) Jeodl SodIhw 2836* Adyderow.
(1) «58, W', W'&Sarha (2) 283, WS
(3) BocirdN, WS (4) 285, W'Hh@Rrhs

— —

Read the following statements.

(A) Midbrain, Pons varolii and medulla oblongata are togéether called brain stem.

(B) Paracoels are connected to diocoel through iter.

(C) Heartbeat, respiration, swallowing, cough related centers lie in medulla oblongata
(D) Cerebellum is also called gyroscope of the body.

Among the above correct stalements are

$od woTei wggehido Bakob:

(A) SodsBoddo, K560 Supsngross 580 Hdd Sroom Wiotrd.

(B) ﬁ'@?ﬁs‘m obb oo dArndi fodadaran.

(C) =)Bo% 9063, Tgdlod, Mofwe, drite 30888 48 dobods Joen
Anepiogpoes dolrown.

(D) ®5ham,d 3 NS5 Soird.

TS HbGEed woTw ook

(1) (A)(B), (C) (2) (A)(C), (D)
(B), (C), (D) (4) (A), (B), (D)

48.

Identity the set of hormones that are not antagonistic in function.
(1) Melanocyte stimulating hormone - Melatonin
(2) Calcitonin - Parathormone
(3) Adrenaline = Noradrenaline
J ﬁg}" Insulin- Glucagon
Eﬁaﬁ HreShm SO0 dodd 6 e 28
(1) o P (WO T - De'as
(2) &AL - PoTlye
(3) AB>0S - a8 Jdads
(4) =2d3pds - o5 A'S

Rough Work

www.A peamcet.co.in
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49. Antigen binds to this part of antibody

f@f‘f’ Paratope

(3) Fc fragment

ad A j

(2) Epitope
(4) Fab fragment

96 S8 98 a0 @ o’ woddo wHdood.

(1) Sords'sS (2) Jais's
(3) Fcarno (4) Fabzriio
50. Match the following
List [ List I
(A) Syphilis (I) Human papilloma virus
(B) Genital warts (Il) HBV
(C) Hepatitis - B (IIT) Treponema pallidum
(D) Gonorrhea (TV} HSV (Herpes Simplex Virus)
(V) MNeisseria
& Bob 4D 2dSdhin
SR S8 Il
(A) 2505 (I) &gsesS b S o5
(B) wdarof Eodhen (II) “rS.80.2.
(C) 5885 -B (M) @&>dsr 3965
(D) Adbcsr (IV) "rd.an.0 (T hof) 360)
(V) 3ndosr
A B C D
() (1 (@ (IV) V)
(2) (I (@ (1Iv) Al
gam o a4 v
(4) (I) (1) “«IvV) (V)
Rough Work
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51, Study the following and identify the correct combinations :

Extra embryonic Formed by Function
Membrane
A | Amnion | Somatopleure Protection.
B | Allantois Splanchnopleure Placenta formation
C| Yolk sac Mid gut Nutrition
D | Chorion Quter wall of amniotic folds | Exeretion
S0l :’u%ﬂﬁ: 208000 B0 2dNdUabdd Hlodod.
2od Wy o | WoYeHo Tuo2
Al #eoo e g8 Sém
B| edudiu ézauﬁéi‘f,g:ﬁ Boraind bdﬁﬁﬁbu
Cl| 2% Hod &m'augim =
D[ socssd G Sodse deond Bbgo | D8gs
(1) A,B {21/ B,D (3) A,C (4) B,C

52. Identify the complete and correct sequence in the passage of spermatozoa.
(1) Secmuniferous tubules -+  Retetestis — Vasa efferentia — Vas deferens —

:';21'/ Seminiferous tubules —

(3) Seminiferous tubules —»

(4) Seminiferous tubules —

Epididymis — Ejaculatory duct — Urethra — Vagina
of female

Retetestis — Vasa cfferentia — Epididymis — Vas
deferens — Ejaculatory duct — Urethra — Vagina of
female.

Retetestis —» Vasa efferentia — Epididymis — Urethra
— Vagina of female

Retetestis — Vasa efferentia — Ejaculatory duct —
Vagina of female.

-H'JLE!im'-u @nﬂ:’*m.ﬁrguﬁ‘ 005 :y‘ﬂqfirﬂﬁl H:uﬁnﬁcrﬁ-

(1
(2)
(3)

(4)

DEF‘IHEE TVE
HE'ends ey —
Hife o8 78w —

DHiF IO P50 —

Rough Work

6&5%3?35 — DETVE > DETTE > JOLBN
Hodado = Ghlo — diFro Bwdok

88380 — LET Y - IDATND — HETTE =
HodTdo » Ewio » diFro Jedds

H88L5 — HET VL — IDAFLD — PWhgo = Tro
JeeRdk

88850 — LT Vo — § odTdo — BFro Tend ok

www.Apeamcet.co.in
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51. Study the following and identify the corrcct combinations :

Extra emhryonic Formed by FFunction
Membrane )
| A Amnion Somatopleure Protection N
B| Allantois Splanchnopleure Placenta formation
:C Yolk sac Mid gut ~|_Nutrition
D| Chorion | Outer wall of amniotic folds Excretion
Sob HYEH 485000 S0 adidSadsd Hiodod. | @
Dod @Iy B0 26T i 26 ]
Al sopo g GEw
B| e®o63% AnosS'rs ) hﬁlﬁﬁ&an
Cl| #3200 fugrgo|do | e
D| Sooind doyddde Jedd sockgo SET
(1) A,B @f B,D (3) A, € 4) B,C

(1) Seminiferous tubules —
Q’f! Semuniferous tubules —

(3) Semimferous tubules =

(4) Seminiferous tubules —»

52. Identify the complete and correct sequence in the passage of spermatozoa.

Retetestis —» Vasa efferentia — Vas deferens —
Epididymis —» Ejaculatory duct —» Urethra — Vagina
of female

Retetestis —» Vasa efferentia — Epididymis — Vas
deferens —» Fjaculatory duct — Urethra — Vagina of
femalc.

Reteteslis —» Vasa efferentia —» Epididymis — Urethra
— Vagina of female

Retetestis — Vasa eflerentia — Ejaculatory duct —
Vagina of female.

HIESere Poirndyrdos’ SBeond POESrY) mooded.

(1) HFeonssE 00
(2) DFoyds ;e —
(3)  BF'enEE T¥5en —

(4) dE'enEs P85 —

6885 —» HET Ve —» DETTE J58300 —
HosTEo > FREo = Do Jwiok

58805 — DETIS0w > BB - Hgoirs —
HoiTde - i mgo — diro Jeonds

68THH — DETIEL = DBI0 Bhfe = ddo
Seands

ﬂtﬁﬂ%ﬁ 2 DET e o HohTdo diro JeoRdb

o ————

Rough Work
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53. A person with 44A + XXY chromosome setup has gynecomastia and are Barr body positive.
They have symptoms of
(1) Turners syndrome Klinefelters syndrome
(3) Down syndrome (4) Edwards syndrome
28 558 4M4A + XXY g'ardine 89, NS SrRair, e S5 50A G080 © BT
(1) 55 voE's (2) 3Svg6NoE'S
(3) &3 hod@'oo (4) 2dg) Rol@'So
54. Drosophila with the genotype AAA + XX 15
(1) Normal male (2) Normal female
(3) Inter sex (47 Metamale
AAA + XX adogtrdo se G reor
(1) oo YOI 2D (2) >TCeo & &2
(3) HHodof £D (4) BOHA 2D
55. Find out the mismatched pair.

(1) Lyomization - Liane Russell and Mary Lyon
(2) Y - Chromosome - Stevens and Wilson
(3) X-hbody - Henking

##17 Shot gun sequencing - Jeffreys
Sob T8S* Ho5R wdd hiodod.

(1) o&raBae - dosrs S, wbolrs

(2) Y- S'ararso - DI, DLy

3) X-Bdo . S8R

(4) FeaShERef - BeS www.Apeamcet.co.in

—H

Rough Work
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5.  Wings of buttertly and wings of birds are examples for

(1) Vestigial organs mﬁ Analogous organs

(3) Homologous organs (4) Atavistic organs
norEE Dool 05, w0 oboln 25 05w Q8 SOrdoe

(1) wSFrdScharen (2) Ecirardoy wichao
(3) Qomirdg widharen (4) wtrdnf addbhara

57. Which of the following shows similanty with first man?

w/ Homo neanderthalensis (2) Australopithecus
(3) Homo erectus (4) Homo habhilis
Bod T&8S° 28 Foodd) Sr5g0 0 dolwod,

(1) odr ddrodbTand (2) - HS* BOES

(3) o> VLD (4) e NS

i L ——

58 Guardian angel of genome 15

(1) PpRB @~ P*? protein
(3) T, cell (4) Interleukin - |
255> Hodie B

(1) PRB (2) PP 8%
(3) T,ge0 (4) =mobsbengss -1

59. In poultry, antibiotics are used to treat

(1), Infectious corvza (2) Gumboro disease
Brooders Pneumonia (4) Aflatoxicosis
§'¢ SOt & agh dded dirodl adirE) Jdard.
(1) =279§0d00 §0r (2) HofG agh
(3) |1esd) Srgdrdoir (4) A>e'HEDD
Rough Work
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60. ¢ 1 antitrypsin is used to treal

() Metasema (2) Polysema
¢} Emphysema (4) Colyscma
- 1 ciroll (@insse &3 DEGHS 2AErhAD.

1) oérhde (2) &Ondr
y{ DoPRar (4) E'Ohdr

— — _ — — — =

61. Assertion (A): Hormones interacting with cell surface receptors do not enter the target
but they generate second messengers

Reason (R) : Glucocorticoids bind to the intracellular receptors and regulate the gene
EXPression

The correct answer 1S :

(1) Both (A) and (R) are true. (R) is the correct explanation for (A).

(2). Both (A) and (R) are true. (R) is not a correct explanation for (A).
(A) is true but (R) 15 falsc.

(4) (A) is false but (R) is true.

Dfdo (A): ofd Swro D i) rirsred’ nofodnd 56k Swod’s Bugowa). 55
@l Geboh Fordod GdE Ddow.

500 (R): Ars'srdsronbion Sarody (Prsol SowoBodnd udg 3£8dnd Perddo
Saron.

(1) (A)So8cs» (R) %93d, (A)E (R) 58S d8dm

(2) (A)3:8c3n (R) #2053, (A) 8 (R) 588 dobe 5700

(3) (A)%D%0 52 (R) 5888 5°¢0

(@) (A)s288 s PR R)F2s6. WWW.Apeamcet.co.in

#
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62 The correct sequence of taxa is

(1) Class - order - family - species - genus
(2) Class - family - order - spccies - genus
(37" Phylum - order - class - species - genus
(4) Phylum - class - order - genus - species

5080mE J000Q00S SCHES,Y) MYoTed.
(1) &S&6d - g0 - Sotnowo - 208 - Dz
(2) &dné - Babnowo - (§30 - &8 - P
(3) Hdo - o - 4408 - 28 - DB
(4) 3go - 8618 - ES0 - (Perd - B

63. Latest and 17" biosphere reserve in India is

(1) Silent valley {E’}' Seshachalam hills
(3) Aravalli hills (4) Sarguja, Bastar
rOaDEorT D awchardd Soboln 175 paroyehs daby

(1) POol a0 (2) di2rdeo Foden
(3) woS® Sdgeren (4) 3z, w36

64. Wharton's jelly present in umbilical cord 15 an example for

M Adipose tissue (2) Mucus connective tissue

(3) Areolar tissue (4) Elastic connective tissuc

THOpIHO" @od JED B & Bok TS LTI,

(1) DaFE daspoo (2) 3y dodrxs swerewo

(3) Jocdrerd Semowc (4) RBYTLS Sodrus fereo
Rough Work
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63.

——  www.Apeamcet.co.in

Assertion (A):  In cardiac muscles, impulses are transmitted rapidly.

Reason (R) - Gap junctions allow quick passage of ions from one cell to the other.
(1) Both (A) and (R) are true. (R) 15 correct explanation for (A).

2 Both (A) and (R) are true. (R) is not correct explanation for (A).

(3) (A)istrue and (R) is Wrong.

(4) (A) and (R) are Wrong.

S5 (A) Fydich Sodded” |3Tdares Slom HHdonderan.

s*dwo (R) : wodd Rofov g0 woirdoey of £oo HHod JTFY swas ﬁﬁﬂﬁﬂﬂ"
ol eI ow.

(1

o™

(A) S:008 (R) Azo (A) 8 (R) 588 dade
(2) (A)3:8c30 (R)azo (A) S (R) 505 H56w e
(3) (A)R=zo (R)Azo 57&

(4

™

Todr Jzo ! '
() 50 () TR Ripo Wi www.Apeamcet.co.in

66.

The glial cells which help in providing blood-brain barrier are
(1) Astrocyles (2) Ependymal cells
(# Microglial cells (4) Oligodendrocytes

ggo-Ddid wiGTd) Do ded® S'E\E fioSd Serwe
(1) e@Fad (2) SHodHod Sarw

(3) 280chS Searen (4) woR‘God )

Rough Waork
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67. Study the following and choose the correct pair.
Class Feature Example
(A) Cephalopoda Closed circulatory system Pinctada
(B) Echinoidea Anstotle's Lantern Sca - Urehin
(C) Tentaculata Cnidoblasts Pleurobrachia
(D) Hexactinellida Siliceous spicules Venus' flower basket
Bof T8 H8200d TUS ﬁﬂ@aé RSrFTos HEodod.
o OERO 0w
(A) DRSS HoSys EEBvEn 5557 2OFG
(B) JBarowbod w08 &30 Do whyo
() Eﬂh‘ﬁagﬂb‘ Sodseren "'I & ersoir
(D) gl nOs folrsTew D50 Frody
O B0 @ @O OO @ QO
68, The Molluscan without shell
(1) Sepia (2) Octopus p)/ Loligo (4) Nautilus
§6ySe B3 Sodm, 4.
(1) hair (2) =855 (3) erdR (4) &Sl
69. Study the following statements about chordata,

(A)

(B)
()
(D)

Columella auris presentin the middle ear of amphibians is modified hyomandibula
of ishes.

Reptiles lay cleidac eges.

Sphenodon 1s a connecting link between amphibians and reptiles.

Panthera tigris 1 an extinct animal of India.

From the above, identify the correct statements.
5PL5 Jobd Bol woTen HBIDoTS.

(A)
(B)
(€)

érdabiiore Sy BDS® drod £dhofs & Jius Do ol ol drdreddo.
S0Ryares §a ol ds wdoron.
ili.-'i‘ﬂ"ﬁ eFabdoren H6Hre gy Soprdady

(D) PeBo8INS rEs8¥d Jeod soddd.
B 388 Hond woren HBodob. o
(1) (A),(C) (2) (1), (D) B3 (A), (B) (4) (B), (C)

Rough Work
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70. The character not related to chondrichthyes 1s

(1), Claspers (2) Placoid scales

Filamentous gills (4) Heterocercal caudal fin

so(@5n5H Ronolods HiEW LEmo

(1) Rodf)domren (2) arsroxd Frevdow

(3) Sodird Jnayes (4) 235050 Yo
71. Assertion (A): [t is necessary to study the life history of an ascidian to consider it as a

chordate.
Reason (R) : Tadpole larva of ascidians has a notochord that disappears in the adult.
(1) Both (A) and (R) are true. (R) is correct explanation for (A).
Both (A) and (R) are true. (R) is not correct explantion for (A).

(3) Neither (A) nor (R) is correct.

(4) Only (A) is true but (R) 15 false.

Jfdo (A) : JhBoHSE dEidkdom Jordodaral o 20¢ SO wiguhido Dabdo

w3500,
56000 (R) @ &S er8FS Bogido ¢ ndodo dotnod. 570 (@r§ G¥S" udyigo
eHaoh.

(1) (A)Sobcsn (R)Tode 5252. (A)E (R) 525 256w

(2) (A) 398050 (R)Dods $250. s*A'(A) € (R) 528 d56m s

(3) (A)Dociw (R)Dodr Nzo 8.

(4) (A)dzo 52 (R) duo 6. www.Apeamcet.co.in
72.  Kinety system is presentin

(1) Flagellates (2) Sarcodines
(3} Cihates &4y~ Sporozoans
33 5555 DA Ao

(1) £z 2o (2) >&Y,85en
(3) F0sick e (4) ns'esSeo
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M-C AM 2015


Tulasirao lanke
Typewriter
www.Apeamcet.co.in


www.Apeamcet.co.in

73.  Nocturnal periodicity is exhibited by

(1) Wuchereria
(3) Rhabditiform larva

NTEO B83JTW) BEGoud
(1) ogdocr

(3) -ﬂ‘%ﬁ#&é_‘ Bogigo

74.

[ Set Code |

L1 ]
(2) Ascaris
w Microfilaria
(2) wamba

(4) SEpSboin

Which one of the following statements is correct?
(1)  Benign tumors show the property of metastasis,
(2) Heromn accelerates body functions.
(3). Malignant tumor exhibits metastasis.
Patients who have undergone surgery are given cannabinoids.

Bod ardde HOalE arEgdndn Hlodod.

(1) D3RS Eederen DoirbBHi HEG)Iaw.

(2) rorans #Bd dhyfabe Amd) Dodhdod.

(3) SO0l Lo BerdS SoydyBSE)Ran.

(4) 43084 donohbl) hed FHSiadE Eodaronl Tded.

73.

Match the following

(A) Emamoeba histolytica

(B) Plasmodium
(CC)  Wuchereria
(D) Extraintestinal migration

B0l 80 =ddddod.
(A) Dobrber LrEds
(B) 238aia

(C) &E3pdsr

(D) erifgo Sob

A B C (b
(1) (IV) (1) (I (1)
(2) (V) () (V) (1)
(3) V) (I (i) (I
(IV) an vy (I

(I) Cytozoic parasite
(II) Coelozoic parasite
(II) Rhabditiform larva
(IV) Monogenic parasite
(V) Lymphadenitis

(I) Swrody Sogsd
(1) S50 S0y £
(Ill) o386y dodLo
(IV) Ds8Fon Hovd) £
(V) DodBolss

www.Apeamcet.co.in
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76.  Which of the following statements is incorrect pertaining 1o cockroach?
(1) Ostia have valves which allow the blood to pass only in to the heart.
(2f Thorasic and abdominal spiracles are valvular.
(3) The wall of the trachea is made with lamina propria, endothelium and taenidia.
(4) The taenidia keeps the trachea always open and prevent it from collapsing.

& o wored G Rosss £omoBod H0s A0 287

(1) eholrs &F) E5w Imasioo’s Sm@d 50 ©Rooder wiidmoo.

(2) Sgwrrios D B00os» &80y TIRooT gty HEradnen.

(3) arciaTd gohgon T YO, Jdo& oo, BhAcsrodt $057D dobuol.
(4) BHASr 08 TdnT T Landadochds 0T Juiydr A8 5S Hodraw.

— e ——— ——

77 Which among the iollowing are the fat secreting cells present in the hacmocoel of

cockrvach?

(13 Trophocytes (2) Urate cells

(3) Mycetocylcs (4) Denocyles
Qo€ 0§ $oirgEne’ FYguR H0d femen DD?

(.El/ 145* (2) Srdd Sered
(3) @hu‘*ﬂéﬁj (4) <T84

—— -

78 ‘Which of the following rule states that with the increase of every 10°C temperature, the
rate of metabolic activity ge1s doubled.

(1) Van't Hoff's rule (2) Bergman's rule

(3) Allen's rule (4) Jordon's rule

adss’ @é 1076 &G So 2cdho S0 Doy wHdiodd adH dobivo.
(1) o5 S5 HrEs (2) BEERS Ao

(3) 285 o0 (4) &gt Jehao

Rough Work
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79. Match the following.
(A) Eutrophication - [} Rise in sea level
(B) Biomagmfications “—(II) Water Hyacinth
(C) Terror of Bengal - £ ~¢[1I) Increase of quantity of pollutant at successive
\' trophic levels =
(D) Greenhouse effect I'V) Enrichment with nufrients
The correct answer 15 ¢ . '
Bod TN 2RdSod.
(A) chrEs'eeas (1) HSEStres DAL
(B) 23 wigdo (I) ~& roiruod
(C) 866 w5 Borrs (1) Pedigscs mEd Edrdons FaE Fond whgsido
(D) Zosii Gerso  (IV) Ssod’ Slggiobio.
S8and SSroreo Mhiowod.
A B C D
() (v)y (@ (O (5
@ @ @ [m www.Apeamcet.co.in
(3) (n (my av) d- P S
@wioav) @m  ancu I
80. Choose the wrong combiaations among the following

| S. No, Int&g_i:tiun éptmex A Species B
A Mﬁlism | + +

B | _ Commensalism + O |

C | Parasitism + +

D “Competition O -
seMBgnssadad hoodod:

.90, wodd Sdg ardd A 8 B

~Z EJHE.T;EQ_“&.; sadsse ||+t +*
T B | sooesspo + 0

C 2078 d3s0 + +

D S SaE0 0 -

(1) AB /,.’u/H,L: (7)) €, D (4) A,D

Rouoch Wark :': :l:EEn”:E[.:E.IIi ;
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PHYSICS

In a medium in which a transverse progressive wave travelling, the phase diffcrence

hetween the points with a separation of 1.25 cm is % If the frequency of wave is

1000 Hz, the velocity in the medium 15

L S Eos® Busresiyh BGE PED) S60R0T 1.25 Do b, drdod’dfiv 0od> Hochyo
Sagy drado Ty Scor g 1000 Hzrﬂm:nﬁ o olrddost & Sdol Jo Jod?

(1) 104 ms! (@ 125 ms™ (3) 100 ms! (4) 10ms!

82.

Two wires of the same diameter and same matenal have 1_1:ng}h5 1.2 m ani 2 m,F whratr.;
with the same fundamental frequency. If Lh_a shorter wire is stretched by a force o
36 kg wt, then the tension in the longer Wirgas

22 HorgEns Sobed, S3rd Tgroa 8OR, 1.2 by, S00080 2 o, dHeoo SOAS Tod
Biriex z..:é- FEE ZHYsgod” SobodaiaNoN. 36 kg wi & Fi3bH rrhdcihnds, o da )
sKg'n 8358

(1) 50kgwt (2) 200kgwt  (3)) 100kgwt  (4) 400kgwt

B3.

The object and theimage are at distances of9cmand 16 cm r?sperclively !*rum the !‘-:?m :::-g
an equiconvex lens of radius of curvature 12 em. The refractive index of the material 0
the lens 15

Sga Tygo 17 Ho s fo sSsiEderes o Dgforsd 505 JFgodore Mool
S0k Selein padoaine Gr0e0 <dsdme 9 ot S8cko 16 Wo., wond shs
SEgBHSS rosgin.

(1) 145 (2) 1.5 &5 1.55 4) 1.6

e
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[Lrici.iti:]cmc

A plane wave of wavelength 6250 A is incident normally on a slit of width 2% 10-2 em.
The width of the principal maximum of diffraction pattern on a screen.at a distance of
50 ¢m will be

6250 A #ddod ;%u Ko 2.€ SSofo 2x10-2 Do.ab. JEey e 2,08 t'_'lﬁi':i IOZION
HE5SY, 50 Ro.d Erded’ fo 86 n GBS D3I SGESD Sodadh Mo G
3:'.'51.'_1:-3 O ?

(Y 312510 cm (2) 3128%104 cm
(3) 3l2cm (4) 31251 cm

83.

H6.

A Gaussian surface in the cylinder of cross seetion 'na” and length 'L’ is immersed in a

uniform electric field £ with the cylinder axis parallel to the ficld. The flux '¢' of the
electric field through the closed surface.s

'ma?! Sogg@sn, L' @Y o ST MhoDS dodn, DEbs Dips Y S E
Ig50d", B8 BY, drdo wedl IBredrinm Goddiy Andfaioodd, of Dol
dodn ol Jdgd vhITo '$hamas dod?

) 2xad*E (2) “wa*EL (3) rma’(2+L)E (A’J'/Zcm

A total charge of 5 e is distributed uniformly on the surface of the thin walled
semispherical cup. If the electric field strength at the centre of the semisphere is

1
4r cy

9
9= 108 NC-! the radius of the cup is [ =9x10° Nm* C 2]+

Hood8 mdfiv'sd dodn 5 pco esPsn, K508 JRBoIG HHD. omd Toddn S¢

1 —
4 €,

Y 2 ~=1
26558 Be 536 97108 NC wond od agrgsion deod [ 9% 10" Nm™ C ]

(1) 5mm (2) 10 mm (3) Sem (4" 10 cm

87.

The potential difference between the plates of a capacitor 1 increased by 20%. The energy
stored on the capacitor increases by

TIULES pore S FBACHSE BEo 20% Hod, IS’ Jeod Hod 48 Jod Db,
(1) 20% (2) 22% 63 40% (4) 44 %

F—_ﬂ_ﬂ
Banmab YWl
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88. A parallel plate capacitor has 91 plates, all are identical and arranged with same spacing
between them. If the capacitance between adjacent plates is 3 pF. What will be the resultant
capacitance? N
865 SErshans 91 doTod of vodcin Jodkity vHGuaIs. 3

55005 Dot S duso NGy ESE 3 pF 5, ood Jwdo "‘

(1) 273 pF (2) 30pF ( 94 pF {ﬁi
80, A 1) resistance in series with an ammeter is balanced by 73 ¢m o entiumeter wire. A

standard cell of emf 1.02 V is balanced by 50 ¢cm. The amm :. a reading of 1.5 A,
Then the error in ammeter reading i3

wdopbithfa 162 QGG #Fcd Sogrddod” dr-‘{rl:'ﬁjdba pm!.':-a a3 fo IHAT
Madads BRS Soded sddeed. 1.02 V D&gdoes wod HH) Barw Htrds
50 0.5, o6 Joded Hddudod. uh.:é_h Eﬂ.ar‘h drHods oddt Sh5n

deas Jod?
(1) 0.03A (2) 3A

3A (4) 03A

90. A battery of 12V is connected i -~ t as shown in figure. Find the magnitude of
current '/’ '
Bods Srhd Svokos' 12 V 1 @Arhodrd. BoRS IS e T Dend Jod?

2Q 12
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L1 |
A rectangular copper coul 15 placed in a umiform magnetic field of induction 40 mT with

ils plane perpendicular to the field. The area of the coil is shrinking at.@ constant rate of
0.5 m3s-!. The emf induced in the coil is

b4 S&0es onbil & 40mT (b S0 D668 ©oHIy 08 AFSVE", T Joo IS
S¥% womorr godidty dodndio. 8y Frogin 0.5mis Hodued Sofoud v
Sl S (Wibodnds DeogSames aodw.

(1 10mV (2) 20mV [}}’J?Eﬂm‘d' (4) 40mV

92.

The range of voltmeter is 10V and its internal resistance is 5002, To convert it to a voltmeter
of range 15V, how much resistance is to be ?’?

(1) Add 2582 resistor in parallel
(3) Add 12552 resistor in parallel (4) Add 125£) resistor 1n series

Add 250 resistor in series

2.8 Jey Jotodh @ng), gl 10V 0080 woed)&'dsn 500 vond, & S'eydebi 15V
Tyufio Sagydoblr Srdiordd Jdod A6'0D) fadd

(1) 25 A8erady Siroddonr Sodrd. (2) 250 250D Fdd Sudrd.
(3) 120 a8Taymdroddor soard.  (4) 1250 280 @l Sadrd.

93.

A bar magnet has a coercivity of 4%10° A m~'. It 15 placed inside a solenoid of length
12 cm having 60 turns in order to demagnetize it. The amount of current that should be

passed through the solenoid is

Afsrd 4x103 Am! o dografdm,oend) oM Jdehamcbsdeo dabaras 12 Wo.w
239, 60 e DA% FoTanss® LEB FoTanhs' Hitroddobd ddopdy

1) 16A 21 8A (3) 4A 4) 2A
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94. Match the following:
Cuantity Formula
; : ; : dg
1. Magnetic flux linked with a cail a) - 2
2. Induced emf b) g pg 0y 0y g
3.  Force on a charged particle moving ¢) BAcost
in a electric and magnctic hicld
4.  Mutual inductance of a solenoid d) q(f+ v E‘)
& Bol TN SBET0s.
o3 e L)
& -nZ8
. wabimod wdooo a) =
2. (004 Duren b)  pp pg Ny ny eyl
3. Ddogd Sdoln mdlidjod FEred” c) DBAcosl
D) ey EwoD nuo
1. OTonb Ang, B3 5EEHEm d) g(E+vxB)
(1) 1-¢,2-d. 3-b,4-a ¢2) l-c,2-a, 3-d,4-b
(3) 1-b, 2-a,3-c,4-d (4) 1-a,2-b, 3-d, 4-c

T

95. The electric current in A.C. circuit is given by the relation ¢ — 3 sin @t + 4 cos w!. The
rms value of the current in the circuit is in amperes

AC. Sodhol*d Déhgd Hairo (=3 sinf 4 cos of 08 HdEdeos Srdodeds,
Jeogd BITo GwE), rms Jess

5 ]
(1) NG %41 502 (3) — (4) E

Rough Work
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5% of the power of 200 w bulb is converted into visible radiation. The average intensity
of visible radiation at a distance of 1m from the hulb is

200 o8 woy) ﬂ*ﬁ:gsm:ﬁ‘ 5% GyTes Jeboodum Irgnbsdre poy %08 1
Grooss’, & Sy S0 280w Sk b

91.

(1) 0.5 w/m? 1 0.8 wm? (3) 0.4 wm? (4) 2 w/m?

When a light beam of frequency v is incident on a metal, photo electrons are emitted. If
these electrons describe a circle of radius r in a magnetic field of strength B, then the
work function of the metal 15

v Ir3ydge fe srod ddolio 8 G'Orduo HdSo DobdHd T Juigee wmdo
=0Nob. & i Jogio BEE 484 fo wshinos g8os" r grgo feo SyEsd
Srfod SO, & O B Pdoie

2

(Ber)” Ber
s+ hia—
2 me 2me (4) 2me

038.

The distance of closest approach of an a-particle fired at nucleus with momentum P is 4.
The distance of closest approach when the a-particle is fired at same nucleus with
momentum 3P will be

togto 3 P@ssadod Hairdo a-Smo clot), wdgos Pdg drdod. wd Boydso

E:;:/JP GS5g3ros® Poirdind) od a-Swo @ng), wdgod by drda
3d (2) d/3 (3) 9d (4) d/9

99,

In a nuclear reactor the number of U? nuclei undergoing fissions per second is 4x1020.
If the energy released per fission is 250 MeV, the total energy released in 10 hours 15
(1 év=16x10-191)

L8 ArglonE SeingEeS* . Eos* DY@ Bod UBSTogse bopy 4¥10% 18 DY3S"
Do #8 250 MeV soan@ 10 dobiod® Ddudo SR 45,
376=100 ] (2) 576=1012] (3) 576x101] (4) 576x10'2]

e SSm—

Rough Work
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100. Currents flowing in each of the following circuits A and B respectively are (neglecting

the forward resistance of diodes).
o8 Grdassd Adbdn BSodrda s @adter Sham (ddrbe 98 W80
:}iﬁiﬁuﬁuﬂ:'

A B
401 452
e e —D—nn—y
40 4£1
— KA —
|= | I: —
gy gV

@(lﬁumdiﬂ (@) 2Aand1A @) 4Aand2A (@K 2Aand4A

101.

A message signal of frequency 20 KHz 1s uscd to modulate a carrier of frequency
1.5 MHz. The side bands produced are

20 kHz &r5:98g0 rie 8 2odd Boterdy, 1.5 MHz 25:9850 o airg Sdorrd) Srdogdds
Do D8 wiAdArhood, ﬁﬁ.}_ﬂ‘ DO oy E--!ém

{fﬁ’ 520 kliz, 480 kHz (2) 1520 kHz, 1480 kHz
(3) 1500 kHz, 20 kHz (4) 1020 kHz, 980 kHz
Rough Work
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If energy (E), force (F) and linear momentum (P) are fundamental quantities, then match
the following and give the correct answer.
A B
Physical ; Di :onal f |
a) Mass d) E°F-IPI
b) Length ¢) ETFOP:
¢) Time fiy E'F1p

¢8 (E), woo (F) Sbdin 3hab @Sgdko (P), FELETOHES (508 Ten 8620w wogmie
b A Ts! Hﬁﬁﬂﬁ,

A i
88 o 8 Srdyer
a) | SSgore d EF'}
b) 63 e) FE1FOP2
c)] BO3» fi "ELFP?
(1) a-d, b-e,c-f (2) afb-e ¢-d
(3) a-e, b-f, c-d (4Y a-e, b-d, c-f

103.

A vehicle moving with a constant acccleration from Ato B in a straight line AB, has
velocities 'u"and 'v' at A and B respectively. C is the mid point of AR. If time taken to
travel from A'to C is twice the time taken to travel from C to B then the velocity of the
vehicle'v' at B 15

A &sod B Dodopss of nod Hioditmoes’ Sdelyr drdods HSoiboes” drob. A, Be 5
wod Imes 3hdm ', V. A, Beo dudy dochyy C Doty A 2006 L 5 @dire 500,
Hochy Ciood B & Haire 5o a8 Dods Diaowd B 3§ wod e 'v'=

(1) Su (2) 6u (3) 7u ’(9/3"

Rough Work
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104. An object is thrown lowards the tower which is at a horizootal distance of 50 m with an
initial velocity of 10 ms-! and making an angle 30° with the honizontal. The object hits
the tower at certam height. The height from the bottom of the tower where the object hits

the tower is (g = 10ms-2)
&6 aRadee 10 ms! Sdod 82 SSroddoes™ 30° oo ddr dgadm Lo
Raroddom S0marded’ &) 2pdo pd IHH. & SiyY 9ol 2rd Hod ads

(g = 10ms-2)
30 10 50 10
(1) N ]‘1;;: m @ 3 ]Fﬁ m

ol 107 ¢ 1000, (101
| el | P
(3) 33{ o) @ I_ :EJ"'

105. A body of mass 5 kg is projected with a velocity "' at an angle 45° to the horizontal. The
magnitude of angular momentum of the body when it is at the highest position with
respect to the point of projection is

Skge (835003 rie B S0P U Sod BErodtos’ 45° 0 Fmo Dk HELh, el it
56 @8 Doy o o o @BgIre SoIrmo Dews

w Su° m 0w ] W
NN Y g 5¢ ® e

T ——— —— ——

106. A balloon of mass 10 kg is raising up with an acceleration of 20 ms-2. If a mass of 4 kg is
removed from the balloan its acceleration becomes (take g = 10 ms-2)

103.20 G850 o € Dors 20 ms2 ddood® 25 JRBEGHE. oG fod 4320

E350°90 Soly, T didmo (g= 10 ms?)
P/:"'lﬂ ms 2

(1) 40 ms? (2) 20 ms? ( (4) 12 ms=2

Rough Work
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A uniform chain of length 'I' is placed on a smooth horizontal table, such that half of its
length hangsover one edge. It is released from rest, the velocity with which it leaves the
table is

T 2 o 8 DA Mendn Hodbd Sibde ne voih Hobd oo Bods Bordomb.
Do 56 Sod Fookods 5603 08 wgd SB0HE ifo.

3gl 3zl

O e @) '4

A
" |2gl [
B 5 @ |5

108.

Two cylindrical vessels of equal cross sectional area A, contain hiquid of density p, upto
the heights h, and h,. After inter connection the levels become equal, then work done by
force of gravity in this process is

5303 wdyE's Irege (Moo €05 Bods Jzded MFos' p Fods 698 w8 B0
hy 500t hy Jjees® A8, & Bok SFos VosE Hoaro FNIHW IV @I Hko
HErEZN0. & PR dhdimeo SIS 39

B 5\’ y = h
“:. pﬂ(ﬂ] g {2} o A(_L__l]

2 2

9)/ PA[%]E 4) pA(h-h)g

www.Apeamcet.co.in
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A smooth curved surface of height 10m is ended horizontally. A spring of force constant
U0 lmit s hixed at the honzontal end as shown in figure when an object of mass 10g is
released from the op, it travels along the curved path and collides with the spring. Then
the maximum compression in the spring is (g = 10 ms-2) |

8 S0 pd SiEdeo o8 036 10 Do I SO, 0o4S DSG B8s diroddamiaiia. 42
B0z Rarodd O5385 200 Nm-) oe gorose fo wE yell Stod’ GrURl wlodud
SGoxnb. 10 = 1855077 o ol Sy SEdovc Lerdo dod HiEgde Srdo Joud
rdadongds, v 3533 yolid &E‘:ﬁqlﬁ. & BEod it aditifie Kol Sobdss
~Jod? (g= 10 ms?)

10m

(1) 10m (2) 0.1m Mm (4) 0.01 m

|10,

Lhe ratio of the radii of gyration of the dise about its axis and about a tangent perpendicular
to 1ts plane will be

SyEs8 B¢ wio Jowld Five Jgardo Rban wld HGSH eonom Do arsiar
S @he Tgrdo o 98

I ]
(1 B (2) \E Hﬁﬂjf; (4) \E

111

A solid sphere of radiug 'r*is rolling on a horizontal surface. The ratio between the rotational
kinetic encrgy andtotal energy

T Iprdo Ko Qosii'eo 88x 331080 LoD FTHWONB. Wk FB=TE S:bcks Audo

788 fo Qg s
1) 2 y 2 J(l
{ F, 2) = -
7 7 ©G) 3 @ 3

Rough Waork
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A copper sphere attached to the bottom of a vertical spring is oscillating with time period
10 sec, I the copper sphere is immersed in a fluid (assume the viscosity of the flud 15

i s . o]
negligible) of specific gravity — of that of the copper, then time period of the

oscillation 1s

AT PUrslohadd @ofi |fob FRR elognds AR 10 T Soarsds suos’
Sorw DaodhSd. o S'ory) J3YBoIEAS @08 SO0, T Sorgo Gk, IR FoBE5

-FI F.—

G &%) PTG dodsPd o0 oSl oo,
(1) 35 sec (2) 10 sec L}/Erﬁ S6C (4) 20 sce

['wo spheres of masses 16 kg and 4 kg'are separated by a distance 30 m on a table. Then,
the distance from sphere of mass 16 kg at which the net gravitational force becomes
ZETO 15

1632 S00a5n 482 15330000 Mo Bod Feoi 30 D. Gréed® of vy Godudsd.
add dody fherddn poo drdgo wdyg Dok 16 32 835008 fu A'¥o S0l Jod
Srdod” Gobuod.

(1) 10m (2) 20m }{Hm (4) 5Sm

114,

A soap bubble of diameter a is produced using the soap solution of surface tension 1",
F'ind the energy required to double the radius of the bubble without change of temperature,

T Sudisgd SO05 Sagad o8 a Tglo e duy wdl Srold, eFries* Lo oy
€500 Sy wodd Aw) opArdo o Dabprdl sSublS #40 €SMESsn.
(N 2ralT (2) 6ma®T Q#)/P_'imﬂr (4) 12na?T

Rough Waork
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15, Aliquid flows along a horizontal pipe AB of uniform cross-section. The difference between
the levels of the liquid in tubes P and Q is 10 em. The diameters of the tubes P and Q) are
the same. Then (g = 9.8 ms-2)

(1) Level in P is greater than that of  and Velocity of flow 1s 1.4 m/s

E}I,Levei in Q is greater than that of P and Velocity of flow is 1.4 m/s
Level in P is greater than that of Q and Velocity of flow is 0.7 m/s
(4) Level in Q is greater than that of P and Velocity of flow is 0.7 mfs

ede Sdroddomis, JL08 wd)f'd £0AS DY AB mom. S8 wairodadamdb.
P 50cin Q Lieds' 6o doro S0dg 80 10 Ro.db. P, Qen ¥ opdse 03 DR
(g=98 ms2)

(1) P& &3 doo, Q&' (35 doo gold J6y,35, 5800 B 3o = 1.4 2o/,

(2) Q& @5 duo, PS5 (33 dvo god J5y,3, 39Besw PBard 3o = 1.4 o,

(3) P& @S duo, Q&' 185 dwo foll 28y, SeidoBasn Had 3o =0.7 hurn.

(4) Q& @5 duo, Pt |83 doo gold B8RS, BoBdin Pas 3o =0.7

I16. A pan filled with'hot food cools from 94°C 10 86°C in 2 minutes. When the room
temperature i1s.at 20°C, the time taken to cool from 71°C to 69°C is

o8 2900 Jodor &&) 38 esitdo 2 DoTost 94°C Juod 86°C 565 Jondod. Ao
eaie 20°C sond, o e de 71°C Sod 69°C “dd dendirds ;h§ o3

(1)  50sec (2) 40 sec (37 38 sec (4) 42 sec

Rough Work
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117. Two metal rods of lengths L, and L, and co-efficients of linear expansion o, and «,
respectively arc welded together to make a composite rod of len gth (Ly¥ 1.,) at 0°C. Find
the eflective co-efficient of linear expansion of the composite rod,

L, Ly2raHeo Sobakon ay, o, Odg Tgfd rbeddnes EOAS Bods &'T0 §Goo 3Qoh
o watomd. ©8LodS 6T 0°C, 5¢ €4 2dH (L, +L,), woxnd £4 G, |3 erds
g0 T3Ed heEdnd i,

2
(1) L“Ii LEHEE @ - el or AL @
L+5 L +13 L-L, L +1L,

118. An ideal diatomic gas is heated at constanl pressure. What fraction of heat Cnergy is
utilized to increase its internal energy?

s wdso 3G nE edd) Sroddraml ardinfss »udEn wolinai. wobods Fwdo
SRIZS” Jod o 0" wodPs AN BOSENE GEArHLdELD.

5 2 3
. = @ < G < (4)

= | L

119. Ifthe pressure of the gas contained in a vessel is increased by 0.4%, when heated through
1°C. What is the initial temperature of the gas?

&8 MES'Q TSP 1°C aEs vodLin 3830, oo R0k, wiio 0.4% LOASE.

wond e Jrofng g, 89 g Jog?
(250K (2) 250°C (3) 2500 K (4) 25°C

120. Specific heat of one mole of Hydrogen at constant pressure and at constant volume are
450 JK-! and 300 JK-! respectively. Then what is the density of the gas at S.T.P?
(Patm =1.013x10% Nm-2)

w€ S @ed T Gw), Jobds fdak 20 WEN0Sre JIFTw SHim

430 JK-1 So0oda 300 JK-. owond S.T.P ag Talnly daod), Fodd Jod?
(Pt = 1.013%105 Nm-2)
B 247kgm'  (2) 3.0kg/m? (3) 358kgm'  (4) 4.0 ke/m?

Rough Work
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CHEMISTRY
121. The bases that arc common in both RNA and DNA are
(1) Adenine, Guanine, Thymine l;}]’t"l Adenine, Uracil, Cytosine
(3) Adenine, Guanine, Cytosine (49 Guanine, Uracil, Thymine
RNA So00in DNA 0" &80 8m a&d.
(1) D435, RS, FwS (2) DB3S, TS, PEIRS
(3) Q&BS, MRS, PEBS (4) 3RS, cbiohes, IHS
122. The antibiotic having [i-Lactam ring.
(1) Penicillin _2¥Chloramphenicol
(3) Streptomycin (4) Ciproflaxacin
ferfsn Swdhin 005 odrodd nahedf
(1) Bos (2) Ewobasd
(3) BYDRS (4) | BiEr38nS

123.

Identify A and B respectively in the following reaction.

@ e
Br-CH, -CH- - Br Excess Ag O Ag . @ Hydrolysis » B + 2ACOH
(1) 1,2-Diacetoxy ethane and 1, 2 « Dibromo ethane
(2) 1,2 - Diacetoxy ethane and Ethylene glvcol
(3) Ethylene glycol and Glycerol
(4) Ethylene glycol and 1, 2 - Dhacetoxy ethane
Bod Sdges* A Sodain B Sdhdgshins® hgodoes.

iz ] a
Br-CH, _CHE B Excess Ag O Ac ; @ Hydrmlysis » B+ 2ACOH
(1) 1,2-3ebing) ¢33 Sovaiw 1,2 - aw'ar 635
(2) 1,2- E Hh&.r-ﬂ;‘:‘ i obain afHbS Ea*ﬁ
(3) «2pbS Erﬁ Sotosn ABo S
(4) REOITsS Hbatn 1,2 - 3 whird) €35

Rough Work
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Predict the increasing order of acidity in the following compounds.
(1) Phenol < paracresol < paranitrophenol < metanitrophenol
Lp.f" Paracresol < phenol < metanitrophenol < paranitrophenol
(3) Metanitrophenol < paranitrophenol < paracresol < phenol
(4) Paranitrophenol < metanitrophenol < paracresol < phenol

Sob SHndaod® sddrin Lo Fra) hiodod.

(1) sod < Fod>d < rodiroard < DLJSHTS
(2) Fogard <ood < YT 0TS < SoRrbTS
(3) trmEosrd < FoPoTd < o <oaS
(4) ZodEesd < DTS < oSS <oS

125.

Tertiary butyl methyl ether on treatment with HI forms
(1) Isobutane & Methyl Iodide

(2) Isobutanol & Methanol

(3) Tertiary Butyl lodide & Methanol

{W ertiary Botyl lodide & Methyl Iodide

BOgHbar 86 DS &G HI & $65 mDodS Ddydkisd.
(1) offar;ds &S edods

(2) oRfugbdd & DodS'S

(3) BOckd wfBS BLAE & DESS

(4) BOEHO wBS 8BNS & HAS vALAE

126. The major gaseous product obtained in the following reaction is
Bo8 GRFra%od SE5S* DB BEFS Troko didysn
CH+ — NH5 + COCly = product
()) CH,-N=C=0 (r CH;-C=N
(3) CH;-NH-CO-NH-CH, (4) CH;NHCOCH;
Hough Work
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127. What are the total number of orbitals and electrans for m =0, if there are 30 protons in an
atom
(1) 6 orbitals, 12 electrons (2) 5 orbitals, 10 ¢lectrons
(3) 7 orbitals, 14 electrons (4) 4 orhatals, 8 electrons
30 @lroo fo H85raodS® m = 0 805 udo siird) Dbdio Jugdon Hogpg
wod?
W< 6 ebyirgy, 12 Do (2) 5 sgirdy, 10 dog
37 estytrdy, 14 doygs (4) 4 wtyerdy, 8 Jogs:

128. An iron ball has a mass of 35 gms and a speed of 50 m/s. If the speed can be measured
with 1n accuracy of 2% then the uncertainty in the position

(1) 1507 %10 m (2) 1.507% 103" m

(3) 1507%10%m #1507 = 103 m

35 riwe (@gord o @iditdEn 50 2%, JSNE" SONH Y, od Iy Foddos”
pYISEE0 2 TESe THoPol T PSS edHEEcE

(13 1507 = 10734 &, (2) 1.507 103

(3) 1.507 = 1033 & (4) 1.507 = 10732 &

129. In the periodic table an element with atomic number 56 belongs to

(1) HII[ A group, 6th peniod (2) IV A group, 5th periad
&Y 11 A group, 6ith period (4) TV A group, 6th period
esddh SGQEG Sdirmy Sompy 56 Mo farofio P Shodrdo () ook @8
(LBcE) wa.
(1) IIASSeerdrian, 6 5 @ (2) IVASIwordrdn, 5 5 @d
(3) TAdSrsn, 6 5 @d (4) IV ARZrdsn, 6 5 @3
Rough Work
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130). The first ionisation potential of four consecutive elements present in the second period of

131.

— —_—

the periodic table are 8.3, 11.3, 14.5 and 13.6 ev respectively. Whieh one of the following
is the first 1onization potential of carbon,

6545 HUES® BodS LOHES Teorh SHF Suroso HED WANIBAS FLIHE
Deodes Seonm 8.3, 11.3, 14.5 50800 13.6 cv. DBS* SR B, HE% wd@nIBLS
FeRohHE

(1) 13.6 (2) 113 A7 %3 (4) 145

CuCl has more covalent character than NaCl because

9»)/ Na™ has more polarizing power than Cu®,

(2) Cu™ has more polarizing power than Na*,

(3) CI- has pseudo inert gas electron configuration

(4) Na" has pseudo inert gas electron configuration

NaCl £08 Cu’] S J8y 5 Slodracdch aod wino dodordd s*doo.
(1) Na¥@odm >doggo Cu™goB Jdg3

(2) Cu" hdm riogso Na* 0B J8y3

(3) Cl & ogrg g aaran JoEs ITgho so

(4) Na*s Ly i%n‘:ﬁn ;JﬂLEw‘:E Eﬂ*ﬁﬁﬂ sod.

132.

— e

The bond orders in the pairs of bonded oxygen atoms in 0zone molecule are
LE'D wanyd wogdols” IS siips Hddrm zobe Sd; wog |Firodiuen,
(1, 2) (2) (4 1%) (3} (1% 1%2) (4) (Y, 2¥4)

133.

The ratio of kinetic energies of Ig of H, and 2g of CH, at the same temperature will be
&5 aayid 5§ 1 ym H,, 2 mio CH o K82 #50 Aid.
(1) 1:4 2) 4:1 A 1:2 @) 2:1

Rough Work
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134. At critical temperature surface tension of a liquid is
) Zero (2) Infinite
(3) Vanes hquid to liquid (4) Cannol be measured
Foll SIS 54 GTe Sudlgd
(1) So& (2) wdodlan
(3) (So08, Gl Srdodol (4) FoodBbx

135, 250 ml ufﬂazﬂ'ﬂj sulution contains 2.65 g L1f?'~!uj{'ﬂ3- 10 ml of tlus solution s mixed
with ‘X' ml of water to obtain 0.001 M Na,CO, solution. The value of "X’ is
250 0.8 Na,CO, rdmod® 2.65 miwe Na,CO, &dHa. Fd & orlebiods
'K .o A6 5903HE 0.00] M Na,CO, @rdedn 286838, tonsdd' X Jws.
(1} 1000 990 (3) 9990 (4) 90
136. Match the following.
Bod Ten eddidod.
List | Last 11
aDer | wDier ]
(A) Na,O, (I) Zero (o)
(B) RbO, (I +i
(C) OF, (1) -1
(D) O,F, (1V) %
(V) +2
A B C N
(1 I I Hi v
(2) _I v i Vv
G110 v v I
@) 1 \ v Il
137. Which one of the following is correct for a spontaneous reaction at any temperature?
D SRS SGIMPBLH0GS GIrohHS SO & Bod TS HoGIAA?
(1 fﬂH = =\g AS = +ve, AG = -ve (2) AH=-ve, AS =-ve, AG=-ve
(" AH Sstve, AS = +ve, AG = —ve (4)  AH =-ve, AS = +ve, AG = +ve
Rough Work
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L1
What is the ratio between the rate of decomposition of NLO, to rate offommation of NO,7
N,O; 2300d Jogoents, NO,dodde ady Sl e Jdhg Jod?
by Osgy = a0 + Oy
(1) 1:4 () 4:1 (3) 2:1 .M]:E

139.

Which one of the following statement is correct?
(1) The pH of 10* M HCl is 8.0.

(2) Bronsted-Lowry theory could not explain the aeidic nature of BCl,
(3) The pH of 0.01 M NaOH solution 15 2.0.

(4) The Kw of pure water at 308 k is 1.0 = 10~ " mole*/lit?,

B0l DS HOGLADA?

(1) 109 M HCl io*sSmo pH 8.0

(2) ErSRE-OC doodin BCl QR €5 Serad) S300uB.
(3) 0.01 M NaOH \or&eao Gosy pH 2.0

(4) 308k 5g V& 3%, Kwdeas 1.0 % 107 mole?/ lit*

140. Al H, is an example for
(1) Interstitial hydride (2) Electron rich hydride
lonic hydnide (4) Elecron deficient hydnde
Al H; 628 &orsga
(1) wempodod '_:__r-leﬁ_u" (2) ':'”LEJE“-" wgon fo 36
(3) ©cirds @b ) Jdogs srgEsto @b
141. Which.ofthe following is paramagnetic?

& E6BIS' 0 LoRI08 FO SN EONSEE?
(1) Na,0 (2) Na,0, 31 Ko, (4) K,0,

142.

Which group P-block elements show highest positve oxidation state?
I ErD P- o8 Soroses 08588 §78,8 whisie RO HE80H%?

(1) 16 (2) 17 A3 18 (4) 15
Rough Work =
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143. Even though carbon and silicon are non metals, they have higher melting points than
others because

(1) They exist as covalent solids in 3D networks
(2) The bonds in their molecules are strong

(3) They exhibit multiple bonding
(4) They are highly electronegative

BrE)S Stoin DS vo'Tte vondintl FY GIISSTT W addETose 508
63,5 @odobdh s*dmdwn,

(1) =22 Bdéch Eﬁn“;m*m SOAN Hdodrasadh oM f:ﬂ"'q;ﬂ.:l

(2) W8 LoIod® &) DoFUd PO BB,

(3) =22 atwzogred Bddodhid.

(4) =D wbf sweddgordfai D0 dodib,

144, Finilr.:‘gp the correct statement

(41~ CO which is major pollutant resulting from the combustion of fuels in automobiles
plays a major role in photo chemical smog.

(2) Photochemical smog occurs in daytime whereas classical smog occurs in early
moming,

(3) Classical smog has an oxidising character while photochemical smog has reducing
character.

(4) Classical smog is good for health but not photochemical smog,

1Bof voFod’ 20EITAN hdodsed.

(1) =T a0 aodae dordo Dokt Sod dodonr 6yd CO sredgo 5708
daredon Wi EoReT D%ﬁ:ﬁ:ﬁ:p.

(2) 506 Sarcid Iy MBI GG, B SOHEEE M @ SiT0os’ Dok,

(3) Sugordhg f st Srerdo 5:8050 s708 darohd amfi godogden Sgprdo 0N
mTaT- SR

(4) RoRoranE &h Sood vl &LAriisd 5 Saroiod i sadrisdsd.
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145.

|[ Sul]fi.ule }

Benzene on ozonolysis followed by reaction with Zn + H,O gives

(1) 3 moles of glycerol (2) 3 moles of glyoxal
(3) 3 moles of glyoxalic acid (4) 3 moles of acetylene
TJodaid 270D 20D dcd0 Zn + H,0 &' dog 2003 adnds.
(1) 3 3resew ddod (2) 3 Jrwe Euﬂ'ﬁﬁ
(3) 3 Zreve Nesndf wdo (4) 3 Jreve whios

146,

Alkanes having odd carbons cannot be prepared in

(A) Wurtz reaction (B)  Frankland reaction

(C) Kolbe's electrolysis (D) Sabatier - sendersen reaction
dvdogg srdinen Mo el Sy dalrHuaad Hiidh

(A) &8g dog (B) roberol 983

(C) &8y dagd J3amo (D) 885 - Hodldas oy

(1) B,C&D 2) AC&D (3) A,B&D (4) A, B&C

147. 1-Butene + HBr Jﬁ%—) 1-Bromo Butane
The above reaction follows
(1) Markownikoff's rule (2) Saytzetf's rule
(3) Ant MarkownikofT's rule (4) Hoffmann's rule
l-orgtds + HBr ij: y |- S 3rargBs B 365 B0l Aohird) o,
(1) Sr6)R50 ossosn (2) ST dofdodo
(3) ﬁaﬂ'ﬂﬁﬁrﬁas‘ﬁ w5050 (4) Sro&on iy
148, Which one of the following has both schottky and Frenkel defects
& Aol Rt Mﬂr Ho0cin (HuBS G HS50en Dodsr gBRoi0Hb.
(1) AgBr (2) ZnO 3 NaCl (4) KCl
Rough Work
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149. For a dilute solution, Raoult's law states that :

(1) The relative lowering of vapour pressure is equal to the mole fraction of solute.
(2) The relative lowering of vapour pressure is equal to the mole fraction of selvent.

(3) The relative lowering of vapour pressure is proportional to the amount of solute in
solution.

(4) The vapour pressure of the solution is equal to the mole fraction of solvent.
o€ D05 TSt Somodod, TS dohiudbw

(1) b oQnds 9508 @267 36 it Sdrdle.

(2) g oinhds ks @S58 3rd I HSrI50.

(3) &b rayhds A58 (EEwos'd EddY S0 il whidrdos® Hotwod.
(4) (TdeY orpREssn (Sl 3rE rmral SirESe.

150. Assertion (A): 0.1 MKC], 0.1 M K,50, solutions cause the same osmotic pressure in
solution.

Reason (R) : Osmotic pressure depends on the number of particles present in the
solution,

{-lr}"anth (A) and (R) are true and (R) 15 the correct explanation of (A).
(2) Both (A) and (R) are not true.

(3) (A) is true but (R) is not correct explanation of (A).

(4) (A)isnot true but (R) is true.

andsn (A): 0.1 MKCI, 0.1 M K;S0, grdaren o (BarDddvhd o) SeorBain.
sdrdio (R): SadHdd bdssw T oaod*n o Sopgp sFdbdd.

(1) (A)Sdasn (R)Bodr #D5D S0 (R), (A) & 538 D56

(2) (A)S5o803: (R) Sodr 85,

(3) (A)#258 5 (R), (A) % 538 DS 5%

(4) (A)SBSB s*ch, s°a (R) 2050,
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151. The emfof the following three galvanic cells are represented by E |, E, and E; respectively.
Which of the following is correct?

Bodl asiwds Jrd mewdf Yire emf Denden Sdadm E\ B, E; & fob >ad!
| Ry

(i) Zn/zn® (IM) # Cu* (IM)/Cu (i) Zn/Zn?*(0.IM) // Cu** (IM)/Cu

(i) Zn/Zn* (1M) // Cu’* (0.1M)/Cu
o E > T @ Bik,>E
(3) Ey>E,>E, (9)f ES>E, >E;

— E—

152. The rate of a reaction A > products is 10 moleflivmin at time (r,) = 2 min. What will be
the rate in mole/lit/min at time (1) = 12:min.
(1) morethan 10 (2) 10 (3) lessthan 10 (4) 20

sodn () = 2 dw 58 A - Goirasgon S8 Gwof), Sorgaisw 10 ArSIO/ e
1 oS (1) = 12 o $¢ Segdnsn (Irs/d/iw) Jod?
(1) 10 EeB 2893 (2) .10 q3) 10 €od 88,5 (4) 20

—

153. As the size of gold partigle increases the colour of solution varies as :
(1) _Purple — blue - golden — red
Golden = red =+ purple — blue
(3) Red — purple = blue — golden
(4) Blue — purple — golden —» red

' fwre H08T0 LOR 6 T Sod dotb Bob ddom Srdsy
(1) &g Dddoiy = nomd Sgdn —» oy

(2) oM SgSn — J0Y = eo — 2880

(3) . DD —> & — DOGOK > POME 3G

(4 Dddorb — dardoih —r pomHSgin — JHY

1 54, Which of the following ore is used for the extraction of Zinc?

(L} Bauxite (2) Magnetite (3) Malachite (4) Sphalerite
208 Sogidreio dabards aa@Briod Tréd.
(1) r-l"‘%}ﬁ_ (2) ﬁ]"ﬁﬂﬁ (3) Jress (d) ﬁ'ﬁﬂ@ﬁ
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155. Nitrogen has umique ability to form Pr-Pr multiple bonds with itself and with other
elements due to

(1) /FLmaII size and low electronegativity
g}‘]/ Large size and high electronegativity
(3) Large size and low electronegativity

(4) Small size and high electronegativity

A'an add Srorod DHbdo S8 o Pr-Pr sorod, alvvorod J6ED
@855 010 SodT s sEme.

(1) 9% ddredn Sa0ako #8y,S a@ddogird g
(2) ¢ SBSreaSi S0k ISy BndisTE5E
(3) g Sbdrodn Soboin 83,3 weIEgTeEs
(4) D& H0Drwdn Dodaln J85,H mmmﬂﬁaﬁ'ﬁ*ﬁﬁ

156. Which of the [ollowing statement is incorrect?
(1) 4d, 5d, metals show higher enthalpics of atomization than thosc of 3d metals.
(234" configuration favours strong bonding between metal atom in d.block
(3) Gold has higher melting point than copper and silver.
(4) Mn has no close packed structure like the others in 3d series.

B0l woTod” ROgLAE TRA.

(1) 4d, 5d &5 3d 'SP 08 wdd Sosrdddn ;‘ra:;-tij.:i: fonodnodid,

(2) d'dagiin doES SHidirmPo S nokd nora Mkl Sdalikh.
(3) wormrdoss 508 Soboin hoslu 508 VO GITSS TS0 Boko.

(4) 3d@Ses' 000 Loreste I8 sfooar Mn o Syird grdn Jdomwo &odd.

Rough Wark
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157. Assertion (A): The difference in the successive oxidation states exhibited by transition
elements is unity only.
Reason (R) : d orbitals of transition clements are incompletely filled.
The correct answer is
(1) (A)and (R) are correct and (R) 15 the correct explanation af (A),
(2) (Arand (R) are correct but (R) is not the correct explanation of (A).
3¥<_fA) is correct but (R) is not correct,
(4) (A)1s not correct but (R) is correct,

DEyEin (A): S03¢S Swreses BEgod S i hdod® 3o wil Srgd.
s°d@o (R) @ J03ES Soresrod® d efird) udelpim Jodadsd,

28 $8@od HiErerdo

(1) (A)So8edn (R) v 3063032, (A) & (R)S8GS DSde

(2) (ArSsbain (R)wo 365050, =0 (A) % (R) 50005 D360 576

(3¥7(A) 58058 50 (R) 5860350 56,

(4) (A)Sogpsa 2 23 (R)$0GE0S6.

158. Which of the following exhibits linkage isomerism?
€ 808 T7AS* W0 oG ALY HEB0BIR?

{yﬂ{NHﬂs Sﬂd] Br (2) [ED[H:U}EJ Cl,

(¥ [CO(NH,),(NOy)] cl, @ [CO(NH;), ] |cr(eN),]
159, Which chlorine axide is used as bleaching agent for paper pulp and textiles?
3 8035 wRBsngy Mgy Soboin I3 s8I 2doudsdm dcluod

(1) Clo, (2) CLO (3 CL0q (4) ClL0,
160. Which of the following polymers has h:’:ttrm:yr:}it’ﬁ:g‘?

(1) Bakelite (2) Melamine Q{ Buna-5 (4) Terylene

o8 T8¢ Darbon Soohsn 50AS FD5E.

(1) ﬁﬁﬂﬁ (2) Reodas (3) worgar-S (4) BoOI
Rough Work
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